
                Fourth  Semester  M.A. Degree Examination

                                   Public Administration

                               Elective Paper : PAD-C- 442

                            Green Governance and  Disaster Management
Time : 3 Hours                                                                                                       
Max. Marks : 75

                                                    PART – A

ANSWER any six questions. Each question carries 5 marks. Each answer shall 
not exceed 250 words.

1. Elaborate on the Electric Vehicle policy in India.
2. Discuss about the Gadgil-Kasthurirangan panel reports on Western Ghats.
3. Explain the concept Tragedy of the Commons.
4. Do you think Green Taxation is feasible option for protecting 

environment?
5. Elaborate on the Central and State Pollution Control Boards in India.
6. Write a note on Environmental Impact Assessment (EIA).
7. Do you support Environmental Audit for every development project?
8. Discuss about the various Disaster Risk Reduction Strategies.
9. Discuss the role of National Green Tribunal in protecting environment.
10. Explain about the United Nations Environmental Management Group 

(UNEMG).

                                                                                              (6x5 =30)

                                                                                               P.T.O

                                                 PART  - B

Answer any three questions. Each questions carries 15 marks.  Each answer 
shall not exceed 450 words



11.Discuss the major issues related to environmental governance in India.
12.“The Central and State governments in India should allot more funds for

disaster  management”.  Do you  agree  with  the  statement?.  If  so,  give
reasons.  

13.Explain the emerging issues in green governance.
14.Discuss about the various types of disasters and its management.
15.Elaborate on the role of United Nations in environment management. 

                                                                                         (3x 15 =45)


